- WP5300&7%!
. SZ3D
%tﬁ ﬁﬁ Sensa Technology Iﬂ_liEjj Q%%%

S

&

s —AXENDEE, TitH
 RIAFP

« IHREERP

s

- B (x107)

* IP68ZR 7K

- SMEAEOREHED
- [RfEATIE

- CERBA/KUEIE

- RE, SAFEED

- B

RzF

o TV EDTH R
- BRAIRETERR
* BISHRSE

- BaillidFa

* JREEMABERNIX+0.25% o HEFERR

« RERERNILE1% - BElATEE

o BIEIRME « RIE/SEhESR
« -40°C..+125°CT{ERE s BERAEF R ETE
« -20°C...+85°C #*MEREE

EET IS

£S5 (psi)  ESISBE(Bar) =E EEE “#a% BEE
0...50 0.4 -

0...100 0...6

0...150 0...10

0...250 0...16

0...350 0...25

& HehEEREdEs. EfREEE" S, w5,

Force | Pressure | Temperature | LVDT | Switch



WP5300%7%!
. SZ3D \
Etﬁ ﬁ# | Sensa Technology Ij_liJ:TEjj Qj\i%

TERERIE

NERE 25°CRIFEBIER).

Eo | =) BARIE =X =213 &iE
BE(EIEIEEM, 1BE, EfE) -0.3 +0.25 0.3 %F.S.BFSL @ 25°C
FRIRE -0.5 +0.5 0.5 %F.S.BFSL @ 25°C
HEFIRE -0.5 +0.5 0.5 %F.S.BFSL @ 25°C
BBE (FSEAENTI) 100 MQ @ 250VDC
ELERED 1X107 0~FS Cycles

HEESD 5X 2k psi Rated

WARES 20X 10k psi Rated

KHRRRE M (HF) -0.5 0.5 %F.S

FERE 15 +1.0 15 %F.S IMEERESEER
MERESTE -20 85 °C

TIERESEE -40 125 °C E#ARIN, BRE5105°C
EFRECE -40 125 °C EB#AFRIL, BRE5105°C
thEk (RL) RL > 100k Q FH R

?# (RL) < (tEBERJE -9V) / 0.02A Q BT

TR TS 10 mA FEBEHH

M RZATIE) (10%ZE90%) <2ms (FBEEHI) ; <3ms (EBAEH); ToER

fE L 17-4PH+SST304 & &{#17-4PH

pk 50g, 11msec Half Sine Shock per MIL-STD-202G, Method 213B, Condition A

B +20g, MIL-STD-810C, Procedure 514.2-2, Curve L

BT WTEEXESR, &I .
/NFO0..70BarEfRIR R, EFERRESELILIEERS.

#=/iE:

HMERE: FREENEESEORELIEEEE, FHMAHEENMESEEN.

TIERE: FREENEHSEARELIEETEE, B FRENEMRSEEN.

BERE: FREEENSRERANER T URSMEEHAIFEMRANRETE. BHIEE ERE R RE X RISk A MR,
FrEEc B4R A HRIRE ER M RS,

CEFH

Force | Pressure | Temperature | LVDT | Switch



B - FiE | 323D

R~ [mm]

COMMECTOR

SENSOR

PRESSURE PORT

omec”

WP5300%7%
Tl ES XS

wmS AR RYC (&X)
1 FBgiLk 1.97 [50.0]
2 TH5E A JERES 2.10 [53.5]
3 1H5e B kRS 2.10 [53.5]
4 M12i%4288 1.71[43,5]
5 KifErE FORM A 1.93 [49.0]

e EHEO%EE
= =0 RTA | RYB
1 G1/4 JIS B2351 0.472[12.00]| 0.3[8.0]
2 | M20x1.5mm SO 6149-2 | 0.661[16.8] | 0.3[8.0]
3 1/4-18 NPT 0.600[15.24]| 0.3[8.0]

7/16-20UNF FEMALE SAE J513
4 STRAIGHT THREAD WITH 0.687[17.5] 0.3[8.0]
INTEGRAL VALVE DEPRESSOR

5 | M14x1.5mmISO 6149-2 | 0.433[11.0] | 0.3[8.0]
6 1/8-27 NPT 0.390[9.91] | 0.3[8.0]
7 | M12x1.5mm ISO 6149-2 | 0.433[11.0] | 0.3[8.0]
8 | M10x1.0mmISO6149-2 | 0.374[9.5] 0.3[8.0]
o | coaStomezionE, Jostzriaon| oo

BH7KER

PIRELR

wmS IR FR
1 FE4RL: IP67
2 Az A jE$288 IP66
3 TH5T B RS IP66
4 M12i%4288 IP67
5 Ai#HTE FORM A IP65

&t wESFLENTXEEIKERIPES,

e Tfaw
=1 i e

0.5-4.5V 5+ 0.25V

1 Eb g 16Vid R
2 1-5V 8- 36V
3 4 - 20mA 9-36V
4 0-5V 8 - 36V
5 0-10V 13- 36V
6 1-6V 8- 36V
7 0.5-4.5V 7.5- 36V

Force | Pressure | Temperature | LVDT | Switch




WP5300Z%!|
. SZ3D ol
Etﬁ ﬁ# | Sensa Technology IﬂEjjgla—é%%
HETEN
Wi hiEs
L3 e+ T o = BRI
=P T = =EE) BEAESNSL
THFEAZEEES A B C
PreB e 5 A ¢ BSFLEEER L
M1 21188 1 2 3.4 LI
XiFHrE2 FORM A 1 2 3,4
HEE s
EEEES e+ T 2t = BRI
=2Rs 3 I A = £ BSAAEINELE
THFE AL EES A C B =
PreB e 5 ¢ A i ESFLEEERE L
M12itEiEee 1 3 2 4 LI
KifHrE FORM A 1 3 2
EiEEs
EEEEEERY
L3 ik B SiEiERS BRinFiE
4-WIRE,22 AWG
L= ’ ’ - -
B JEFFkEL, PVC,105°C
IHsTIERERS 3-PIN METRI-PACK 150 12078090 12103881, QTY 3
e BINDER SERIES 713, .
12128 09 3431 77 04 OR EQUIV 4-POS FEMALEZE#ZES -
K2 FORMA| OMAL ARB03S or ARBO3R OMAL AHB6733 3+PE -

X &E NEERENENTERFTEASEENMNASHTES, TEELEER/BRAMRNEFSEE, S9M5 ERESTRTK.
B S LTI RIERRNKERS9IP6S,

TR
M53 3 5 - 1 0 1 9 500P G
BsS Lk %R EHEOE ] s EHiEn EER EDER
M53 | 1=0.5-4.5V 1= FagY 1= 4847304 0= FfEfRE 0= FARE(OEM) | 1= G1/4 JIS B2351 0...500psi G=%E
el 2= A +ER17-4PH | 1= 5TER 1= FFRIFE §j :’f&; 1N5PT B= Bar c-SAE

2=1-8V 3= 15T B 2= BK17-4PH 2B | 4 7/16-20UNF FEMALE M= Mpa

3= 4-20mA 4= M12 X= BFE SAE P= PSI

4=0-5V 5= FORM A 5=M14x 15 K= Kpa

5=0-10V _ =, 6= 1/8-27 NPT

6= 1-6V X= EFER) 7=M12x15

7=0.5-4.5V 8=M10x 1.0

_ = 9= G1/4 DIN 3852
X= EFER A= G3/8 JIS B2351
X=2FEH
BT PR EMEEREK, FERI) .

Force | Pressure | Temperature | LVDT | Switch




